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decameters will she ung | OO
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10 deca meters

. Eachyear, the New York City Marathon which is 42, km, is run by fhousands of
people. If you and two friends go run the marathon, how many meters will gl

three of you run?
= 7.0 m
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. Arecipe for shortbread cookies calls forjg@%s of butter to moke 12 cookies.
How many decigrams will there be in 60 cogkies?
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1 mile = 5,280 tt
1 inch = 2.54 ecm
3 feet = 1 yard
454 g=1lb

946 mL =1 gt
4qt=1gal
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1L=1000mL
0.621mi = 100 km

U1~Day3 i
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Tkg=221bs - |
1mi=52801t |
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4 feet long, 10 feet high, and 9 inches

LA eree for i
thick. How many cubic yards should he order? V= lwh

that deer need tohave
ivive. If the size of the preserve is 42 hm long and 560 dekameters wide, how
support? & = lw

3 ippy rean
that should be kept in this aquarium? V=lwh

shown.
1 » duringa 10
2 T 0,000 mil How many y
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UL~Day3
1) How many minutes are in 3 years?

2) How many feet are in 2 miles?
10)How many minutes n the month of October?

4) How many cups are in 4 gallons?

5) How many ounces are in 2 gallons?
6 156 pound: e 2
weight to ilograms. period i one week?
” 5 ki B
inches per day do you travel?
D) @ b how
254 centimeters — 1 inch) many miles per day does the turle ravel?
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U1~ Day3 Dimensional Analysis Homework
3. mass of 2.25 kil

weigh?

4. Afamily pool holds How

5. Sity miles per hour is how many feet per minute?

6 Trent purchases 44 auros worthof s in France. If$1US. = 0,678
s.find the cost of the. S deor. Rount ot o

7. Asmall herd of
herd consume in a year?
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U1 ~Day2 Unit Conversions & Dimensional Analysis HW

1 mile ~ 5280 feet
km 0.6 miles nd

300,000,000 meters.

11b=045 kg 1 quart = 0.946 liters
‘mileshour 1 foot 12 inches Vinch - 2.54 cm -~ 25.4 mm

1. 43 miles into feet 8. 36 cm/sec to feet/min

2. 165 pounds into kilograms

3. 5,100 inches to miles 9. 109 g/mLtolbs/qt

4. 16 weeks to hours

5. S4yardstocm 10.32 ft/sec to meters/sec

6. 19inches to feet

January 11, 2019

U1~ Day2 Unit Conversions & Dimensional Analysis HW
11, You have the
with the following instructions: "Take 1 drop per 10 Ibs. of body weight per day divided into 4
doses until i g
12.You' 15 eat 4 slices. You call

up the pizza place and learn that each pizza will cost you $14.78 and it will be cut into 12 slices.
How much is the pizza going to cost you? You only have $70. Will you have enough money?

13. Every three times I clean my bedroom, my mother makes me an apple pie. T cleaned my

bedroom 9 times. ppl (What?!
‘you for cleaning your bedroom? Aren' there child labor laws? To make up for that injustice, you
‘may have this very easy problem.)

141 3 3 pens. If
d at $1.88 per package, whatis pens?

Jan 3-3:12 PM

Jan 3-3:12 PM
January 8, 2019, Tuesday
1) How many quuces are in 2 gallons? 1286l 0z.= 1 gal.
ot
29d (123ee) _QGboz a3e

|3\"p B \tj"a.\‘ 0{

2) Aperson weighs 156 pounds, convert their
weight to kilograms. l A 5\9

15k ixs (04 :40_2}43 Tt

28 s 116" 018

3) How many centimeters are in 3.5 kilometers?

SNV, 045Kg (b
39 0000cm

Words for the organizer:

(

sgua;ed, at least half of, difference, split equally, quotient, minus, sum, double, at most,

cubed, divided by, increased, more than, fewer than, product, times, no more than, half,

subtract, add, raised to the power of, plus, takeaway, is greater thantriple,
{wice,decreased I
T

no IéggSFnan
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Alg1-Day 4 Translating Expressions & Equations ~ Vocabulary Notes
Addition Fewey Hpn  subtraction
plus ok

i rothan Takeawn
ade Minus

ncreGsed detresed
I Sum o

+wice Algebraic N

Terms .
Multiplication . » Division
SQvareq £qutions and Ingaalites | cljvided by

dovbled at+leas wolkof  half
Culgeot P F moS+

product nNo more Fhay,
Ames o less Hon

Interpret Language in Math Expressions

Defans
Vocabulry efion Frammples
P —— T ———————
el e el KR M
Expression e IYx
Variable s foa nmberwe dr kot X,Y, K
s cither osingle number o vriable, or unbersand | 9% & | LEA M
Term e S ot Tome e sy o
S X Hy-L < dferms
e e G e e A
e e el L
ke Terms ‘each other. Note: the coefficients {the numbers you multiply
by such e . S e x+4X
Coeffcient PP —— Yy
)

|
Coefficient
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erponent

g1 a4 T Equaion: Am.vwm.

):EJ/: AX

Exponent 15 how many thmes to use that number In & muliplcaion

5 he uber thatis g o be e Ysu )P

aso umber ot g o b e 03 pove. base
Constant o constant s mumber n s own, o sometves oter | ) ) U\ !
cons

035 0 Tt o muren
2(x+9)= 33
Lactor
o s tht sy whichcastoncomes rstinan [ /G5 SXCUSEd
Onderofoperatons| st otoname e (PSS ROUSSS,
sell,

eMmpnrs
Fxamples: P et o
p .

QP

Coolfiients Exponents T
2
3
3

pnt

Factors umbers you can MUty together o et ancther number.

@e 3 ] 5
#o 4 -3 3 1
siwpere |2 6 - | 2,3 =

So, far, you h anly the first P

problem, an ecqual sign must be added. The words is” dr “are? a5 wel as "equal )" signl that you
should add an equal sign.

'DONOT find the solutions to the
problems yet.

1T o a5 700 .
- B ez
n = 2300 Fufly ot
2 Fourings e difvenes o s s Spo L {;H‘ﬂ
SKiPPH: ¥+
£ P-4 +e=9)
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nslating Expressions & Equations ~ Vo
erry b b

4. One hundred seeds divided by 5 rows equals
n number of seeds per row.

\pO+S=n

10.Jerry
week into a refirement account, . d
$11.00 per hour and works 40 hours per week
for a certain number of weeks, w. Write an
equation to help him find out how much he puts
into his reirement account

5 by
$500.

his 11
items. What would the

Ro0YX_ e

2300(2) =X

2 q, than 12 12.Kyle b

sale price, p, be on a $2530 dining room set?

c—d>12

8 We started with x number of studen
5 moved away, e had 42 1ok

X-§=42

certain price, x. Today the item is selling for
25% off the regular price. A sales tax of 6% is
added o the equation to find the final price, f.

nts. Whe

January 11, 2019

Translating by Keywords V-
Operation Keywords Sentence Translated
Add ‘The sum of two and a number.
+ Four more than a number.
Subtract ‘The difference of two and a number.

Three minus 2 number.
- Four less than a number.

Anumber decreased by five.

Multiply ‘The product of two and a number.
Thre times a number.

Double s .

Divide The quotient of a number and two.

The quoten of o and mumber.

—

Equal ‘Two more than a number equals 5.

‘When a number s divided by 2 and
reased by3, the resultis 2.

Tuwice the sum of a number and 315 10.

Jan 3-3:16 PM

8 Ewe

9. The quot
10, Two more thanthe product

11, A numberis ncreased by s

7. Three more than twice a umber s 15.

and sixequals 2
ofa numberand 5 42.

ven,then doubled. The results 10.

Denise s

4. Bmily has ceats and ddogs,

Emilyhas

Francino pad.

13, Charieis yyears old. Derise

12, Anne has xapples.and Bobby has three more apples than Amne.

Babby his apples.

s seven years olderthan half i age.

years od.

and no other pets.

pets atogether.

15, Francine bought mmoviesata price of$15 each.

dollars

Jan 3-3:17 PM

January 9, 2019, Wednesday

Translate the following equations or expressions.

1 nm‘;gjikxﬁg 2+x

2 Fourlessthananumber, % —

HS madh:

06y X bl

X-4 ” N HS. X & variable

3 Three times a number.

HS. * & mulhiplicadion

3 X=2x =
i Ms: Axy = gY
: 5 vy

5 Twomore than a number equals 5.

C+2=5

vy=dy
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Algebral~Day§

Naming, Adding, Subtracting, & Multplying Polynomial Notes.

one term (coefFicient ond/or avariabef

®4 we_0addi Hon . subtrockion mislx

be 674126408

of a polynomial i one variable.
of 9 7x

Degree
® The exponent in the polynornial d

e fllowing polyomist: x*+ 66+ 740 126 5

sthe. ree

B 3 e L nelargest

I onder;which meas rom e N1 [ Q@ ST genent o e et
® The coefficient of the first term is called the % ign

ward F ordev

® detromaing

NOT SPEQIAL.... AFTGIL
Brerms

—yyd
@ Example: Write 9+ w h Srandard Form: + N
- PR

Polynomial #of terms 'NAME by # of terms_ degree " NAME by degree

2 | monomial | O |cowstont

o' | Monomion | ) Jinear
w2 | & | omis| 8 |quedrotic
wc | 2 |bmomal | 3 [cvbic
wows| B tmommx 3 lgwdrahc

oAb Y pol-ﬂﬂomo\! J cubic
U M’)H?SPOH"D”‘"J S

ricycle

fi fehdegres
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Adding/Subtractng Polynorials: ( o liKe Ferms)
Simplify each sum.

D (62 -82) + (4 - 45)
x> « -yx*

Simplify each difference.

—IvZor-v?

=2x (1x-4X+2) X' +3

#3109

Y SN

(oP-4x®) + (~$xz+q)\ ) Jop' =85 —1p

3) (6+62) L6+ 1) 4) (6 +8v— 5»‘)‘]6?2» A

"&LWI& v vy Syt R R ders
lv3+lv - v

My lHllncoeFﬁu\l-s,b\ﬁ adﬁi\%exwmrr\s‘)

1. 2 4x + 2) - Use Distributive Proj 2 e 3)" Use Box Method

~2% 4 Irr-4x' K K 3x g3t

XX+

3 Find e srenot e ecande, [ [, 5| Fd e volome

7x+10 =6
L7
\+3

..

(Fen18)18¢eD)
23+ Sk +40x 450
agxt+%x +§0
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U1 Day 5 ~ Adding & Subtracting Polynomils & Identfying
Complete the chart below.

| e o
Polynomial Revritein Sandard Form 2| Dnomial | quair, §
higresk 1st, decr, S pomomia? | bk,

DEEea et

2+ .
%-a B L
Bz
B A-de+Tx With your group find 2 addition & 2
subtraction problems you can dolfrom|
Doz (e-ts
51 3

7) Bo-10x 1 151 6%

8) 7x-3x

Find the sum or difference.

T@e AT D (39 T0.(6%-5) + (3¢ 3x 1 )

C X Tntfrontpfme

N i

Fkagsin

ok

ees
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Simplity each expression

1) lap? < 2p) 4 (1p-3p7)

2) (80" + 307) - (on* - 20%)

3) (sp7+ po(sp* - 7p) 4 (0 40t = 7n) - (50— aw?)

5 (0 =28 - 5) ~ (667 - 5)

6 (axrse +4)+ (260 =)

7 (55 =852 2) (0= 40 2)

8) (8" ~6-3p%) - (0p* =22 7p°)

9) (26" =5+ 87 (07 - 55 - 6b")

10) o 8 67 - (70 260+ 200) + (327 = 5 45')

Jan 3-3:22 PM

Agebra 1 Ul Day's Name
Multiplying Polynomials

Find cach product.

1) 2nlém +2) 2) s -9)

3) 6lar’ ~8x-4) 4) 64K - 6k + 1)
5) (= 1)r+3) 6) (6p-7)7p+3)
7 (8c- 5Hx + 6) 8) (- 8)r—1)

o) (ks s+ 7) 10) (6= 25k+2)
1) @esr)ares) 12) Gu- s 3)
1) (3r= 5 +3) 14) Ga-5

January 11, 2019

1L (5 x-7) + (232 +3x 4 4) 12, (x4 4 7) - (5 + 5x-3)

13.(3+4n%) - (5 29) 16030 (5 3x+ 1)

15.Gpe-2p 13- @ -7p+ ) 16, (@ -d+5)- (@ +d+35)

17.(5a 1 9b) - (3 1 7) 66030y 1 47 1 ¥ (0 -9y Ty 139

627 +4x, whatis the

1.
perimeter?

. [ (B E
the rectangle
21 » e aEal

the triangle are represented by the expressions 2x” —Sx+3 and 2x” ~3x +4. Find an expression for
the third side ofthe triangle.

Jan 3-3:25 PM

Find each product.

1) 2mld4m +2) 12) axfax—8)

1) 64 8- 4) 14) 6K -6k 1 1)
15) {6n - 1)7n-2) 16) (54— 5)s-2)
17) lap-3Nsp-4) 18) (2p - ip+4)
19) i+ 86k + ) 20) (p-ellop+5)

21) o+ 1)(20 + 60 8) 2) (201 axt - a-3)

) (572 +8p-Nap'+ p3) 24) (307 + Ta+$)3a* = Sa— 1)

Jan 3-3:22 PM

January 10, 2019, Thursday

4) (1 +n* =) (sn' - 4n?) N
T -2+~ ont 4807

Wne—4n -2n
SEL =Un*+in>-In

3) (507 Hp) +(5p* = 7p)

6) (6p-1

AN
b-360EK @ 575 ¢ +3)
W2 e1ip ~41P=7)]

..quiz

2P 3P

Jan 3-3:24 PM

Jan 3-3:28 PM
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"*“"ii::i”;:if T Prme: 1236,111,13)
e e Compsty 4 0, 9,10 \z,

——acciree 03

w~2333 5/3 20 Qqﬁ

= L9 ewmw 75 T
IFe o, 2132}
ﬁ;ﬁ‘:‘& o I3 V T

umker: =873 X+x < 5%
biemoic™™ © S

Ut i ok, he radica
o 2 =22 b 43 = 3+ e o & ..., L .;
i same.

AR i1 & 262
e - Ve

Dy sva s “\%—IV‘N—V'I:AZ\‘N P

OSB3

Simplify.
When X y the inside.
together and then simplify.

@223 /10 because 2 - 3is6.and 255 10)

TW o2 10) 35V
W EL\r Ct “Tﬁ

January 11, 2019

Simplify,
r 4 lg\ % >4) V392

=
222002 g o¥

3712

Jan 3-3:28 PM

CP w i) D v
smslz —[3F5
313 +5

Pracice
Simpliy.
13) V252 19 Ve
15 Vizs 16 V27
1 18 e
[DENTEY 20) 4128
KH@ Vs S AL 'l\)@ws4
J& oy aiians 20 255

29 3oV CCTWE 2
I3 JVEP
mﬁﬂ@n@zm 21832

%

20) 364254 30 V327

EENCRENTY 32) 5 -2vas

33) 2V54 332 -5 3 3327 e 2a5 - Vo
M) 35 Vi 5 36 V155720

KH@),V:[M ) 3 olv324e)
39) Va(Vi0 +3) Ce ‘T)\/‘\/s (-5v2 410

a1 (V54 a5 43 ) (12 V)5 +433)

Jan 10-9:50 AM

January 11, 2019 Friday (X . )
Zy_’m das
2) Solve for x.
Sx+2(x—-1)=x+10 K= ;)O

Sx+2X-Z=x+I10
FIx-1:=y+10 X=17
4 ;Z ¢

0x-1= | % ]

6) If April drinks § cups of water a day, how many pints per week is that?

Jdp 3) Mp'm‘s

Tieek | 40 week

10) Translate the statement into its algebraic expression: The sum of a number and 6 then divide by 3.

(X+6)/3
X+
5

Jan 3-3:28 PM

Alg1-Day7 NOTES - Rational & Irrational Numbers

Rational Numbers:
Canb two integers (i
zero. Many i

Examples: 5,0,7,5/2, 0%

« \Bis rational - you can simplify the square root to 3 which is the quotient of the integers 3 and 1.

Irrational Numbers:
't as two integers (i

Examples: V7 5,7

No, you add or mulip tional s with
ona be.
Complete the additon table.
5 (120 |V2|-v3|m 5 |m|o|v3 |5 |x
5 |10 |55 5 |25 |25
s 1”2
0 3
V2 V2
-v2 =5
™ "

LW/ . which is

s rational

2. The sum of a rational number and an irrational number is irrational.

3. Thesum ris irrations

» a

3.
4

5. The productofa
6. The product of an

Jan 3-3:31 PM

Jan 3-3:30 PM

What is the difference between rational and irrational numbers??

Ratlenal

Irratiunal
Mumbers

Maiural
Numbsrs

1L,534d..

Jan 11-9:31 AM
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Algebra 1 ~ Day 7 Rational & Irational WS o Ri1
Name
) Determine whetherthe folloving numbers ardghional orftional. dret
& Re0
o¥ )
s 5 10
\bJ 7
O ReR
0575 8
W 11
s x > Re1
- I o
D Rs
9) 034343431 T .
?) 0248502656... = ) e
O = \ber is. Then, on your
E notes.
D) vis
o i ber s. Then, write 3 rrational onyour
2 ) e y
AW+ 16 _r » = or nover true
b)) 2(v5 4 7) 71
ﬂ a) Rational + Rational = Rational
o VouvE b) Rational - Rational = Rational
Do ¢) Rational » Rational = Rational
- 4) Rational + Rational = Rational
Ries —_— &) Trrationsl + Irrational = Trrationsl

) Irrational - Irrational = Irrational

3) Which statement s true about the value of (/6 + 4)7
‘two rational g) Irrational « Irrational = Irrational

2) Itis rational,
b) I I . "
o 1 ) s b) Treational = Irrational = Irrational
o 1 ional, b i is irrational. i) Rational + Irrational = Rational

i) Rational - Irational = Rational

Y tional, or p that
b givea 1) Rational + rrational = Rational
example. EXAMPLES (if needed): 1) Rational + Irrational = Rational
PR
b) R+0

Jan 3-3:32 PM Jan 3-3:32 PM

Jan 3-3:32 PM
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